M

V L [6)
www.ps.bam.de/WE09/10L/LO9EOONP.PS/.PDF; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
log [ UGR\/] log =log . log[ UGR ]-logG log =log . log [ UGR\/] log =log . logG -log[ UGR 'Jlog =log

logG =0,5[log +log ] log =log .13 {IogG =0,5[log +log ] log =log .13 logG =0,5[log +log ] log =log .13 {IogG =0,5[log +log ] log =log

logk« =0,5[log +log ] log =log . logR =0,5[log +log ] log =log . logik = 0,5 [log *;log ] log = log . logR =0,5[log +log ] log =log
Adaptation: A 5 3+ Threshold: t=0.007 Adaptation: A =575 . Adaptation: A 5 3+ Threshold: t=0.007 Adaptation: A
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N

27 27
ts=0.007
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UaCaraval log =log . UGR ]-logG log =log . \aa-aVd| log =log +0.16 logG -log[ UGR ']log" =log
logG =0,5[log +log ] log =log . {IogG =0,5[log +log ] log  =log . { S[log +log ] log =log . {IogG =0,5[log +log ] log =log
logk =0,5p7¢ +log ] log =log . logR =0,5[log +log ] log =log } / Spytlog ] log- = log logR =0,5[log +log ] log =log

Adaptation: A =525 3+ Threshold: t=0.007 Adaptation: A \ Adaptation: A 5 3+ Threshold: t=0.007 Adaptation: A
A A \
Threshols 21 27
ts=0.007 ts=0.007
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log [ UGR /] log =log +0.26 log[ UGR ]-logG log =log +0.26 UGR /] log =log +0.26 logG -log[ UGR 'llog" =log . +0.26

}IogG =0,5[log +log '] log ' =log = -0.2 }IogG =0,5(log +log ] log: =log . -0.2 0,5[log- +log ] log. =log . -0.2 *IogG =0,5[log +log '] log ' =log = -0.2

loge =3,5flog +log ] log =log +0.66 logR =0,5[log +log ] log =log  +0.66 5,5hag +log ] log  =log - +0.66 logR =0,5[log +log ] log =log +0.66
Adaptation: A =500 34 Threshold: t=0.007 Adaptation: A = \ Adaptation: A = 3+ Threshold: t=0.007 Adaptation: A =

A =525

Threshols 21 27

t=0.007
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WE091-6, Change of LMS in volour vision; Adaptation

log [ UGR /] log =log +0.37 log[ UGR ]-logG log =log +0.37 log [ UGR /] log =log . logG -log[ UGR 'Jlog" =log . +0.37
{IogG =0,5[log +log '] log ' =log ' -0.3 {IogG =0,5[log +log '] log: =log . -0.3 {IogG =0,5[log +log ] log =log . {IogG =0,5[log +log '] log ' =log -0.3

logR =N &5 [log +log ] log =log  +0.66 logR =0,5[log +log ] log =log } logk =0*s"log +log ] log  =log b logR =0,5[log +log ] log =log  +0.66
. Adaptation: A 3+ Threshold: t=0.007 Adaptation: A Adaptation: A 5 3+ Threshold: t=0.007 Adaptation: A\ =475
A =525 5 A =525
--—»:‘—.ﬁ.~— 2 r 2 L
. K3 ts=0.007 % ts=0.007
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WE090-7, Change of LMS in volour vision; Adaptation 'WE090-8, Change of LMS in volour vision; Adaptation WE091-7, Change of LMS in volour vision; Adaptation WE091-8, Change of LMS in volour vision; Adaptation ﬂ“ﬂ.‘
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BAM-test chart no. WEQ9: colour vision and adaptation inpugO* setcmykcolor . §=
output:no change compared to input

Logarithmic cone sensitivity and ratios or differences
M Y




